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60 JEE - F=E sokk fokk kkk kkk kkk 15 1 P
61 FA - KA sk fkok kkk kkk kkk 15 1 P
62 = - BH sokk kkk kkk kkk kkk 15 1 P
63 ;B - +XF dokk okolok dokk kkk kkk 15 1 P
64 mA - =H sokk kkk kkk kkk kkk 15 1 P
65 FikE - %EH sokk dokk kkk kkk kkk 15 1 P
66 X% - HEE sokk fokk kkk kkk kkk 15 1 P
67 =M - B sk kdkk dokk kokk kkk 15 1 P
68 &Kk - FK sokk fokk kkk kkk kkk 15 1 P
69 kO - kO sokk kkk kkk ckkk kkk 15 1 P
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60 JEE - FEE kkk k kK sokk kkk 12 2 P
61 RHE - KA * * 2 9
62 & - FH ®hok ok Kok ®ck 10 6 P
63 E& - +X=F * x Kk kokk 7 1
64 =X - =H sk ok kk ok kk 12 2 P
65 Fik - 4£H sokk kkk kkk kkk kkk 15 1 P
66 % - 1EEE ok cklok kk kk ckkk 12 2 P
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i B Waltz
60 E& - = 2 22 35 20
62 %& - BEH 3 4 6 5 6 50
64 EX - =H 4 3 5 2 2 3.0
65 FHE - %H 1 11 1 1.0
66 K% - (BB 5 6 3 4 3 40
68 Bk - EHK 6 5 4 6 4 6.0
# H Tango
60 JE& - FE 3 45 4 3 30
62 %& - BEH 6 6 6 6 6 6.0
64 EX - =H 2 22 2 2 20
65 FHE - %H 11 1 1 1.0
66 K% - (BB 5 3 4 3 5 40
68 Bk - EHK 4 5 3 5 4 50
i H Quick step
60 Hia - FE 3246 4 40
62 %& - BEH 4 6 6 5 5 6.0
64 EX - =H 2 35 31 20
65 ik - %H 111 2 1.0
66 K% - (BB 55 2 2 3 30
68 Bk - EHK 6 4 3 4 6 50
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60 JE& - FE 203.04.0 9.0 3.0
62 %& - BEH 5.06.06.017.0 6.0
64 EX - =H 302020 7.0 2.0
65 Fik - %£H 1.01.01.0 3.0 1.0
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6 5 17000051 N Xk AE Ll FIE F£14 1.0 1.0 1.0
6 6 17000047 N X% Fit BE pUdb %’41& 4.0 40 3.0
6 7 17000040 N FHHE #BX B Ah AR
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